



ชื่อ: _____

วันที่: _____ คะแนน: _____

$$(3 - \frac{1}{3})^2 + \frac{3}{5} + \frac{1}{2} - 2^2 =$$

$$((\frac{2}{5})^2 + \frac{2}{3}) \times \frac{1}{3} - (\frac{1}{3} - \frac{1}{3})^2 =$$

$$(\frac{3}{2} - \frac{1}{3})^2 - \frac{1}{3}(\frac{1}{2} + \frac{1}{6}) =$$

$$((\frac{1}{2})^2 - \frac{1}{5}) \times \frac{1}{5} + (\frac{3}{4} - \frac{2}{3})^2 =$$

$$((\frac{3}{2})^2 + \frac{2}{3}) \times \frac{3}{2} + (\frac{1}{2} + \frac{1}{2})^2 =$$

$$(\frac{1}{5} - (\frac{1}{6})^2) \times \frac{1}{2} - (\frac{1}{4} - \frac{1}{3})^2 =$$

$$(\frac{1}{3} - \frac{1}{3})^2 - \frac{1}{2}(\frac{2}{5} + \frac{2}{5}) =$$

$$(\frac{2}{3} - \frac{2}{3})^2 - \frac{3}{5}(\frac{1}{5} - \frac{2}{3}) =$$

$$((\frac{1}{6})^2 + \frac{2}{3}) \times \frac{3}{5} + (\frac{2}{5} + \frac{3}{4})^2 =$$

$$(\frac{2}{3} + \frac{1}{2})^2 - \frac{1}{2}(\frac{3}{4} + (\frac{1}{6})^2) =$$



ชื่อ: _____

วันที่: _____ คะแนน: _____

$$(3 - \frac{1}{3})^2 + \frac{3}{5} + \frac{1}{2} - 2^2 = \frac{379}{90} = 4\frac{19}{90}$$

$$((\frac{2}{5})^2 + \frac{2}{3}) \times \frac{1}{3} - (\frac{1}{3} - \frac{1}{3})^2 = \frac{62}{225}$$

$$(\frac{3}{2} - \frac{1}{3})^2 - \frac{1}{3}(\frac{1}{2} + \frac{1}{6}) = \frac{41}{36} = 1\frac{5}{36}$$

$$((\frac{1}{2})^2 - \frac{1}{5}) \times \frac{1}{5} + (\frac{3}{4} - \frac{2}{3})^2 = \frac{61}{3600}$$

$$((\frac{3}{2})^2 + \frac{2}{3}) \times \frac{3}{2} + (\frac{1}{2} + \frac{1}{2})^2 = \frac{43}{8} = 5\frac{3}{8}$$

$$(\frac{1}{5} - (\frac{1}{6})^2) \times \frac{1}{2} - (\frac{1}{4} - \frac{1}{3})^2 = \frac{19}{240}$$

$$(\frac{1}{3} - \frac{1}{3})^2 - \frac{1}{2}(\frac{2}{5} + \frac{2}{5}) = (-\frac{2}{5})$$

$$(\frac{2}{3} - \frac{2}{3})^2 - \frac{3}{5}(\frac{1}{5} - \frac{2}{3}) = \frac{7}{25}$$

$$((\frac{1}{6})^2 + \frac{2}{3}) \times \frac{3}{5} + (\frac{2}{5} + \frac{3}{4})^2 = \frac{2087}{1200} = 1\frac{887}{1200}$$

$$(\frac{2}{3} + \frac{1}{2})^2 - \frac{1}{2}(\frac{3}{4} + (\frac{1}{6})^2) = \frac{35}{36}$$